Svenska Bridgeférbundet
Simultantavling Dagtid 2016-04-21

Partavling, 44 bord, 85 par. Antal brickor: 24. Medel: 958.8. Frirond (*) ger egen procent.

Plac Par
1 D16
2 E5
3 F10
4 F11
5 All
5 B14
7 C3
8 Ci16
9 D8

10 D15
11 E8
12 C12
13  A13
14 F1
15 Al12
16 F9
17  Fi12
18 Al0
19 Cl4
20 A6
21 Di4
22 E10
23 F5
24 B13
25 B6
26 B10
27 C6
28 F2
29 Ci5
30 E7
31 Bl1
32 B2
33 Al5
34 EI12
35 Cc7
36 B9
37 Al6
38 Bl12
39 F8
40 B8
41 D12
42  Al4
43 F3
44 D3
45 D4
46 D7
47 A5
48 C8
49 E3
50 Al
51 E11
52 E2
53 Ci13
54 C5
55 D6
56 C1
57 A7
58 A2
58 C4
60 D11
61 B5
62 c2
63 D1
64 D10
65 B3
66 C10
67 El
68 A3
69 C9
70 D9
71 D5
72 B4
73  F13
74 A8
75 Ci11
76 E6
77 A9
78 D2
79 B7
80 A4
81 B1
82 E4
83 F4
84 Fl4
85 F6

Poang

1373.0
1316.6
1265.5
1232.7
1232.0
1232.0
1211.0
1194.0
1184.7
1184.0
1178.3
1159.0
1150.0
1142.0
1126.0
1122.5
1121.5
1107.0
1105.0
1101.0
1088.0
1085.0
1084.4
1080.0
1074.0
1064.0
1055.0
1048.4
1040.0
1038.9
1035.0
1034.0
1032.0
1025.0
1020.0
1018.0
1005.0
999.0
996.0
986.0
970.9
967.0
958.9
954.5
950.2
943.6
941.0
915.0
913.1
912.0
906.0
885.7
876.0
862.0
853.1
849.0
847.0
846.0
846.0
845.5
845.0
837.0
823.6
820.4
814.0
813.0
810.3
810.0
806.0
800.7
796.4
791.0
788.7
788.0
772.0
765.7
762.0
741.8
736.0
734.0
732.0
616.0
600.0
577.1
525.8

%

7151
68.57
65.91
64.20
64.17
64.17
63.07
62.19
61.70
61.67
61.37
60.36
59.90
59.48
58.65
58.47
58.41
57.66
57.55
57.34
56.67
56.51
56.48
56.25
55.94
55.42
54.95
54.60
54.17
54.11
53.91
53.85
53.75
53.39
53.13
53.02
52.34
52.03
51.88
51.35
50.57
50.36
49.94
49.72
49.49
49.15
49.01
47.66
47.56
47.50
47.19
46.13
45.63
44.90
44.43
44.22
44.11
44.06
44.06
44.03
44.01
43.59
42.90
42.73
42.40
42.34
42.20
42.19
41.98
41.70
41.48
41.20
41.08
41.04
40.21
39.88
39.69
38.64
38.33
38.23
38.13
32.08
31.25
30.06
27.39

Namn

Else Kovacs - Anders Kovacs

Bjorn Dellenmark - Kerstin Martinsson
Jons Lundfeldt - Lena Nyblom

Jan Sonnerstedt - Goran Larsson
Hans Nerell - Set Nilsson

Britt Frank - Roger Johansson

Tomas Truedsson - Curt-Ingvar Svensson
Gunilla Séderlind - Bengt Soderlind
Arne Johansson - Per Bergstén
Else-Marie Wéappling - Kent Wappling
Bertil Olsson - Evert Samuelsson
Villy Olsson - Ingemar Von Rosen
Thomas Kvist - Birgit M Englund

Olle Arvidsson - Lennart Hard

Benny Hellman - Margareta Roos
Sture Johansson - Eva Jansdotter
Jorgen Eskilsson - Gunnel Hedstrém
Lars Dahlgren - Renja Jonasson

Klas Nyberg - Marja Hansson

Hans Sarv - Kerstin Sarv

Bengt Hallgren - Cecilia Mérner
Gunilla Olofsson - Bodil Ruther
Gudrun Sonnerstedt - Marita Johnson
Bert Strandkvist - Leif Strandkvist
Kristina Andersson - Lars-Goran Wulff
Berit Falk - Elsa Kristiansson

Else Holdt - Inger Edstrom

K.A.Bérje Andersson - Claes Holmstrom
Anne Stahle - Lena Jansson

Eddie Andréasson - Anders Nilsson
Guje Axvik - Marie Moncke

Lars Dreja - Leif Nilsson

Agneta Moberg - Katarina Landstedt
Birgitta Olsson - Sven Ruther

Kerstin Wahlund - Kerstin Anderlind
Brita Andersson - Inga Andersson
Inger Wasfelt - Lars Wastfelt

Siv Larsson - Borje Mansson

Borge Persson - Kerstin Ljung

Britt Larsson - Leif Larsson

Bruno Astrand - Eivor Henriksson
Gustaf Bergstrand - Lena Bergstrand
Lars Bengtsson - Leif Bernstrom

Leif Eliasson - Annika Haaga

Idor Kihlmark - Lars Axsater

Eva Antonsson - Eva-Lena Frank
Jorgen Boethius - Kjell Persson
Greta Persson - Ake Loftén

Annicka Wahlgren - Sélve Nilsson
Ylva Arbacken - Tomas Carlsson
Ingrid Gereborg - Eva Hjartstrom
Karin Gunnarsson - Britt-Lis Eliasson
Solveig Kristiansson - Britt-Marie R6nn
Gosta Suwe - Ulla Suwe

Inger Nygard - Gunilla Ramén
Elisabeth Knappe - Ingamaj Forsman
Arnfinn Gulliksen - Christer Gottlieb
Margareta Lindberg - Cary Garstal
Gunilla Fridlund - Britt-Louise Fallenius
Inga Kristiansson - Ingegerd Hermansson
Inger Pahlsson - Elna Brodin

Kent Karlsson - Leif Johansson

Bengt Ljungcrantz - Harry Tallo

Leif Lundmark - Lottie Lundmark
Claes Nilsson - Ulla-Berit Nilsson
Barbro Ceder - Bodil Olsson

Harriet Karlsson - John Murdin

Erica Josefson - Bertil Josefson

Inger Sandman - Gunilla von Méller
Fredrik Broberg - Ake Séderberg
Per-Olov Viterstedt - Margareta Viterstedt
Elisabeth Masen - Lena Igelstrom
Ulla Jonson - Lillemor Gustafsson
Eva Thornell - Christina Akerblom
Stig Nilsson - Gudrun Palmquist
Ulla-Britta Adelsward - Rune Karlsson
Majken Welvestam - Eijvor Frej

Sonja Uulas - Monika Wickman

Lena Goéransson - Roland Goéransson
Lena Bjurling - Hans Bjurling

Marie Géransson - Kjell-Ake Ottosson
Siv Johansson - Gun Bostrom

Olle Larsson - Kerstin Larsson

Goran Palm - Bo Carlsson

Anita Fagerstrom - Anne-Marie Lalander

MID

55590
6084
3879
4110

85810

41794
6380

28938
8768

88573

11489

15523

52995

12085

15033

37148

15590

37386

35064

48826
8909

86741

18398

92547

85739

59482

89099

38420
9253
21816
11895
33198
12538
83971
92558

38571
28238
26991
53524
52421
88299
58736
21611
30138
45557
15752
6071
47510
19238
31921
5514
89370
25338
51494
48804
47517
53716
23655
41806
42264
4393
53805
41797
33830
79527
8684
49935
90783
53174
59473
82292
37874
15422
18988
85445
53172
35237
61454
53342
33512

49449
28230

Klubb

Trosa BS
Almhults BK
Kumla BS

Kumla BS
Vastra Bjare BK - Norrorts Bridge
BK ESS-lov
Kullabygdens BK
Kullabygdens BK
Trosa BS

Trosa BS
Almhults BK
Kullabygdens BK
Norrorts Bridge - Vasbypensionarernas BF
Kumla BS
Rotebro BS
Kumla BS
Jarnvagens BK
BK ALERT - Sthims-Polisens BS
Kullabygdens BK
BK ALERT
Trosa BS
Almhults BK
Kumla BS

BK ESS-lov

BK ESS-lov

BK ESS-lov
Kullabygdens BK
Kumla BS
Kullabygdens BK
Almhults BK

BK ESS-lov

BK ESS-lov

BK ALERT - Norrorts Bridge
Almhults BK
Kullabygdens BK
BK ESS-lov

BK ALERT

BK ESS-lov
Kumla BS

Lunds BK

Trosa BS

BK ALERT
Kumla BS

Trosa BS

Trosa BS

BK S:t Erik

BK ALERT
Kullabygdens BK
Almhults BK

BK ALERT
Almhults BK
Almhults BK
Kullabygdens BK
Kullabygdens BK
Trosa BS
Kullabygdens BK
BK ALERT
Vasbypensiondrernas BF
Kullabygdens BK
Trosa BS

BK ESS-lév - Lomma BK
Kullabygdens BK
Trosa BS

Trosa BS

BK ESS-lov
Kullabygdens BK
Almhults BK
Norrorts Bridge
Kullabygdens BK
Trosa BS

Trosa BS

BK ESS-lov
Kumla BS
Norrorts Bridge
Kullabygdens BK
Almhults BK

BK S:t Erik - BK ALERT
Trosa BS

BK ESS-lov

BK S:t Erik

BK ESS-lov
Almhults BK

Kumla BS
Kumla BS
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1 «KD Basta kontrakt 2 & K432 Basta kontrakt 3 4 EKn107 Basta kontrakt
Nord v KKn762 44 O =-420 Ost v KKn2 34 S =140 Syd vED32 6y S =980
Ingen + KD94 NS ¢+ K4 ov 492
»K9 & ¢ v & NT #7532 & ¢ v & NT #E52 & ¢ v & NT
«E8765 4Knl0932 N 4 6 7 2 5 +108 «E97 N9 6997 86542 4K3 N 8 11121011
v- vED43 S467 25 v 963 vE108 S969 97 v 86 v Kn109 S 8 11121011
+ 876 ¢ EKn 08 6 6 108 ¢+ Knl1096 ¢ D8732 047 335 +Kn86 ¢ D107 052132
#EKn643 #108 V 8 6 6 108 *E864 #Kn10 V47335 *976 #KKn1043 VvV 5 2 1 3 2
a4 & DKn65 D9
v 10985 vD754 v K754
410532 ¢E5 ¢ EK543
*D752 *KD9 »D8
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
D15 D6 1v N+1 42 110 80.0 0.0| B3 Bll 44 S= 8 620 73.0 7.0| E7 E12 6v N= vJ 980 80.0 0.0
A9 A4 1v N= L) 80 780 20| C8 Cll 44 N= +J 620 73.0 7.0| D4 D6 4v N+3 #T 510 75.0 5.0
E8 E6 54 V-1 ¢K 50 76.0 40| E8 E6 44 N= +J 620 73.0 7.0| F9 F14 4v N+3 &K 510 75.0 5.0
D10 D2 3y N-1 42 50 740 6.0| F8 F14 44 N= +J 620 73.0 7.0|B13 B2 4v N+3 4K 510 75.0 5.0
FA F6 INN-2 49 -100 72.0 8.0|Al4 A7 44 N= v8 620 73.0 7.0|/A14 A8 4v N+3 3 510 75.0 5.0
F9 F10 INN-3 4] -150 70.0 10.0|C14 C7 44 N= v8 620 73.0 7.0|Cl1 C3 3NN+3 vJ 490 70.0 10.0
E2 E11 34 O+1 5 -170 65.0 15.0|D14 D7 44 N= +J 620 73.0 7.0| F1 F8 4v N+2 &T 480 61.0 19.0
B12 B7 34 V+l1 v6 -170 65.0 15.0| D15 D6 44 S= ¢+J 620 73.0 7.0| C7 C15 4v N+2 #3 480 61.0 19.0
Cl3 C1 24 V+2 vJ -170 65.0 15.0| E2 E11 2v S+2 «T 170 42.0 380 E8 E6 4vy N+2 vJ 480 61.0 19.0
Al6 Al2 34 O+1 &5 -170 65.0 15.0| F2 F5 34 N+1 ¢2 170 42.0 380 B9 Bl14 4vy N+2 &T 480 61.0 19.0
A3 A5 34 O+2 T -200 58.0 22.0| C3 C5 24 N+2 #J 170 42.0 380 C9 C12 4vy N+2 #J 480 61.0 19.0
B3 Bll 34 V+2 vT -200 58.0 22.0| D3 D5 34 N+1 #J 170 42.0 38.0| F10 F11 4v N+2 vJ 480 61.0 19.0
Al3 Al 34 O0+2 T -200 58.0 22.0| F3 F11 24 N+2 #J 170 42.0 38.0|C14 C8 4vy N+2 #3 480 61.0 19.0
B4 B6 44 O= 42 -420 49.0 31.0| B4 B6 34 S+1 ¢J 170 42.0 38.0|(D14 D8 4y N+2 T 480 61.0 19.0
E4 E3 44 O= &2 -420 49.0 31.0| E7 E12 34 N+1 #J 170 42.0 38.0| D1 D16 3NN+2 &4 460 45.0 35.0
F8 F14 44 O= vT -420 49.0 31.0| B8 Bl4 24 N+2 #J 170 42.0 380 A4 A6 3NN+2 &3 460 45.0 35.0
C9 C4 44 0= &5 -420 49.0 31.0| D8 D11 24 N+2 #J 170 42.0 380 C4 C6 3NN+2 &T 460 45.0 35.0
A10 A2 44 O= vT -420 49.0 31.0| B9 B10 34 N+1 #J 170 42.0 38.0(B10 B11 3NN+2 &6 460 45.0 35.0
B13 Bl 44 0= vT -420 49.0 31.0| D9 D4 24 N+2 ¢2 170 42.0 38.0|C10 C5 3NN+2 &T 460 45.0 35.0
F2 F5 44 O+1 T -450 25.0 55.0| F9 F10 3v S+1 ¢J 170 42.0 38.0| A11 A3 3NN+2 &T 460 45.0 35.0
D3 D5 44 O+1 ¥5 -450 25.0 55.0( A10 A2 24 N+2 ¢8 170 42.0 38.0 | A13 A2 3NN+2 &3 460 45.0 35.0
F3 F11 44 O+1 8 -450 25.0 55.0({C10 C2 24 N+2 #J 170 42.0 38.0|(C13 C2 3NN+2 &3 460 45.0 35.0
E7 E12 44 O+1 38 -450 25.0 55.0 | E1I0 E5 24 N+2 3 170 42.0 38.0| Al Al16 4v N+1 43 450 29.0 51.0
A8 All 44 O+1 T -450 25.0 55.0(B12 B7 34 N+1 #J 170 42.0 380 F3 F6 4v S+1 42 450 29.0 51.0
B8 Bl4 44 O+1 T -450 25.0 55.0| A13 Al 24 N+2 ¢2 170 42.0 380 B5 B7 4v S+1 &6 450 29.0 51.0
C8 Cl11 44 O+1 T -450 25.0 55.0(C13 C1 24 N+2 ¢3 170 42.0 380 A7 Al15 4y N+1 &T 450 29.0 51.0
D8 D11 44 O+1 v9 -450 25.0 55.0 | F13 F1 24 S+2 ¢J 170 42.0 38.0/ D10 D5 4y N+1 &J 450 29.0 51.0
B9 B10 44 O+1 T -450 25.0 55.0(C15 C6 24 S+2 ¢J 170 42.0 38.0| E10 E5 4y N+1 #J 450 29.0 51.0
D9 D4 44 O+1 T -450 25.0 55.0 | Al6 Al2 3v S+1 ¢J 170 42.0 38.0|D11 D3 4vy S+1 &5 450 29.0 51.0
Cl0 C2 44 O+1 ¥v8 -450 25.0 55.0(C16 C12 24 N+2 #J 170 42.0 380 F13 F2 4vy N+1 vJ 450 29.0 51.0
E10 E5 44 O+1 v7 -450 25.0 55.0 (D16 D12 24 N+2 #J 170 42.0 380 E4 E3 4vy N= ¢T 420 19.0 61.0
F13 F1 44 O+1 T -450 25.0 55.0( D10 D2 INN+2 ¢2 150 18.0 62.0| D7 D15 4v N= *4 420 19.0 61.0
Al4d A7 44 O+1 ¥5 -450 25.0 55.0| B2 B5 34 N= ¢2 140 13.0 67.0| A10 A5 3NN= vJ 400 16.0 64.0
D14 D7 44 O+1 T -450 25.0 55.0| E4 E3 24 S+1 ¢J 140 13.0 67.0( E2 E11 2v N+4 T 230 14.0 66.0
Al5 A6 44 O+1 T -450 25.0 55.0| A9 A4 34 N= ¢2 140 13.0 67.0| B4 B12 2NN+3 #T 210 12.0 68.0
Cl5 C6 44 O+1 T -450 25.0 55.0| C9 C4 34 S= A 140 13.0 67.0| B1 B8 3v S+2 49 200 9.0 71.0
Cl6 C12 44 O+1 T -450 25.0 55.0| A15 A6 2v S= ¢6 110 8.0 72.0| A9 Al2 3y N+2 vJ 200 9.0 71.0
C3 C5 44DV= #K -590 6.0 74.0| A8 All 3¢ O-1 +vQ 50 6.0 74.0| C1 C16 3NN-1 43 -50 3.0 77.0
B2 B5 44DO+1 vT -690 3.0 77.0| A3 A5 3NS-1 +J -100 2.0 78.0| B3 B6 3NN-1 43 -50 3.0 77.0
Cl4 C7 44DO+1 vT -690 3.0 77.0| F4 F6 3v S-1 #A -100 2.0 78.0| F4 F12 3NN-1 #3 -50 3.0 770
D16 D12 5¢vDN-4 ¢A -800 0.0 80.0{B13 Bl 3NS-1 +J -100 2.0 78.0| D9 D12 5NN-1 #J -50 3.0 77.0
- El 33.8 - El1 33.8| F5 - 45.2
F12 - 46.7 F12 - 46.7 - El 33.8
- D1 34.3 - D1 34.3 - D2 30.9
4 « D74 Basta kontrakt 5 4 D843 Basta kontrakt 6 & Kn5 Basta kontrakt
Vast v9 3NT S =600 Nord v 1064 INTN =90 Ost v D9843 54 O =-650
Alla ¢ EK953 NS ¢+ K4 ov + Knl106
10652 & ¢ v & NT #Kn1072 & ¢ v & NT »E62 & ¢ v & NT
«Knl1086 453 N9 96 9 8 4 K1075 4Kn62 N7 7777 «K1064 4E973 N3 2624
v D106 v EK543 S997 99 vE2 v KKn95 S77777 vE v Kn102 S32624
¢ 842 ¢ 1076 033634 49876  #532 O56 6 65 ¢ E83 ¢ K754 O 10117 118
#KKn8  #D97 V33634 *E95 +D84 V56666 #DKn743 #K10 V 10117 118
» EK92 «E9 D82
v Kn872 v D873 v K765
¢ DKn ¢ EDKn10 + D92
#E43 *K63 #985
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
E3 E11 3NS+1 v6 630 780 20| B2 B9 INS+2 &5 150 750 50| B4 B7 44V-1 3 100 75.0 5.0
E5 E4 3NS+1 &8 630 780 20| E5 E4 INS+2 &7 150 750 50| E5 E4 44 0-1 5 100 75.0 5.0
Cl4 C8 3NS+1 «J 630 780 20|F11 F12 INS+2 6 150 750 50| C8 C15 44 V-1 ¢J 100 75.0 5.0
F3 F6 3NN-= &7 600 70.0 10.0| A13 A3 INS+2 9 150 75.0 5.0|B11 B12 3NO-1 ¢5 100 75.0 5.0
D4 D6 3NS= «J 600 70.0 10.0|B14 B10 INS+2 9 150 750 5.0|A13 A3 2NO-1 5 100 75.0 5.0
B9 Bl14 3NS= ¢4 600 70.0 10.0|A16 A2 2vO-3 A 150 750 5.0|B13 B3 44 V-1 6 100 75.0 5.0
D9 D12 3NS= «J 600 70.0 10.0| E1 E7 INS+1 6 120 58.0 22.0|C16 C2 INO= v5 -90 68.0 12.0
E10 E6 3NS= «J 600 70.0 10.0| F2 F9 INS+1 9 120 58.0 22.0| E3 El1l1 2NO= v5 -120 66.0 14.0
B10 B11 INS+4 &6 210 64.0 16.0| A8 Al5 INS+1 &5 120 58.0 22.0| B5 Bl 3¢ O+1 #9 -130 64.0 16.0
Al A16 2NS+2 46 180 52.0 28.0| C8 C15 INS+1 &5 120 58.0 22.0|D16 D2 24 V+1 ¥9 -140 62.0 18.0
El E7 2NS+2 ¢8 180 52.0 28.0| D8 D15 INS+1 6 120 58.0 22.0| D5 D7 34 O+1 ¥5 -170 59.0 21.0
F1 F8 INN+3 A 180 52.0 28.0| A10 Al INS+1 &5 120 58.0 22.0|C12 C4 24 O+2 w7 -170 59.0 21.0
B5 B7 2NS+2 48 180 52.0 28.0|C10 C1 INS+1 9 120 58.0 22.0| A5 A7 24 O+3 v6 -200 53.0 27.0
C7 C15 INS+3 46 180 52.0 28.0| A11 A6 INS+1 45 120 58.0 22.0| F5 F1 24 O+3 ¥6 -200 53.0 27.0
A9 Al12 INS+3 46 180 52.0 28.0| F13 F3 INS+1 &7 120 58.0 22.0| E10 E6 24 O+3 ¥5 -200 53.0 27.0
F9 F14 2NS+2 «J 180 52.0 28.0|C16 C2 INS+1 &5 120 58.0 22.0| Al16 A2 24 O+3 ¥K -200 53.0 27.0
Cl10 C5 2NS+2 «J 180 52.0 28.0|D16 D2 INS+1 &T 120 58.0 22.0| B2 B9 44 V= *A -620 43.0 37.0
D10 D5 INS+3 46 180 52.0 28.0| B4 B7 INS= a7 90 36.0 440| F2 F9 44 O= v6 -620 43.0 37.0
A13 A2 INN+3 vA 180 52.0 28.0] D5 D7 INS= a7 90 36.0 440| B6 B8 44 O= &8 -620 43.0 37.0
B13 B2 2NS+2 4J 180 52.0 28.0| F5 F1 INS= 45 90 36.0 44.0| A8 Al5 44 V= v4 -620 43.0 37.0
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Cl3 C2 24 S+2 v6 170 40.0 40.0| B6 B8 INS= a5 90 36.0 440|Cl11 C6 44 V= *J -620 43.0 37.0
Cl C16 2NS+1 & 150 30.0 50.0| E8 E12 INS= a5 90 36.0 440|A12 A4 4e V= v4 -620 43.0 37.0
C4 C6 2NS+1 & 150 30.0 50.0 | E10 E6 INS= a5 90 36.0 440| E1 E7 44 O+1 ¢2 -650 19.0 61.0
D7 D15 2NS+1 +8 150 30.0 50.0|C11 C6 INS= 46 90 36.0 440 C5 C7 44 V+1l ¥8 -650 19.0 61.0
E8 E12 INN+2 T 150 30.0 50.0| D11 D6 2¢ S= &5 90 36.0 440| F6 F8 44 O+1 &5 -650 19.0 61.0
A10 A5 INN+2 T 150 30.0 50.0| A12 A4 INS= a5 90 36.0 440( D8 D15 44 O+1 &8 -650 19.0 61.0
F10 F11 2NS+1 &J 150 30.0 50.0|C12 C4 INS= a5 90 36.0 440| E8 E12 44 V+1 8 -650 19.0 61.0
All A3 2NS+1 T 150 30.0 50.0| F14 F10 INS= a7 90 36.0 44.0| A9 Al4 44 O+1 ¢2 -650 19.0 61.0
D11 D3 INN+2 vA 150 30.0 500| C5 C7 1lv S= a5 80 240 56.0| C9 C14 44 V+1 ¥9 -650 19.0 61.0
F13 F2 2NS+1 8 150 30.0 50.0| A5 A7 INS-1 a7 -100 15.0 65.0| A10 Al 44 O+1 ¥5 -650 19.0 61.0
Bl B8 24 S+1 +¢8 140 19.0 61.0| B5 Bl 2NS-1 a5 -100 15.0 65.0(C10 C1 44 O+1 v6 -650 19.0 61.0
Cll C3 3a4S= v6 140 19.0 61.0| A9 Al4 2NS-1 a5 -100 15.0 65.0 (D10 D1 44 O+1 v5 -650 19.0 61.0
Al4 A8 2NS= 46 120 15.0 65.0( D9 D14 2v S-1 +9 -100 15.0 65.0| A1l A6 44 O+1 vJ -650 19.0 61.0
D14 D8 INN+1 v4 120 15.0 65.0( D10 D1 3NS-1 +6 -100 15.0 65.0| D11 D6 44 V+1 #A -650 19.0 61.0
B4 B12 2N S-1 a8 -100 11.0 69.0|B11 B12 2N S-1 +9 -100 15.0 65.0| F11 F12 44 O+1 v2 -650 19.0 61.0
F4 F12 34 S-1 v6 -100 11.0 69.0|D12 D4 INS-1 +9 -100 15.0 65.0| D12 D4 44 V+1 v4 -650 19.0 61.0
B3 B6 44 S-2 ¢4 -200 5.0 75.0|B13 B3 INS-1 oT -100 15.0 65.0|C13 C3 44 O+1 ¥5 -650 19.0 61.0
A4 A6 3NS-2 46 -200 5.0 75.0| E3 E11 3NS-2 +9 -200 4.0 76.0| F13 F3 44 V+1 8 -650 19.0 61.0
A7 Al5 34 S-2 v6 200 5.0 75.0| F6 F8 24 N-2 vA 200 4.0 76.0|B14 B10 44 O+1 8 -650 19.0 61.0
C9 Cl2 34 S-2 *2 -200 5.0 75.0| C9 C14 3NS-2 +9 -200 4.0 76.0| F14 F10 44 V+1 9 -650 19.0 61.0
D1 D16 44 S-3 vQ -300 0.0 80.0|C13 C3 3NS-4 7 -400 0.0 80.0| D9 D14 44 O+2 ¥5 -680 0.0 80.0
F5 - 45.2 F4 - 25.0 F4 - 25.0
- E2 36.9 - E2 36.9 - E2 36.9
- D2 30.9 - D3 39.8 - D3 39.8
7 & DKn Basta kontrakt 8 4 Knl108 Basta kontrakt 9 &« EK87 Basta kontrakt
Syd vKD74 54 V =-650 Vast v- 44 V D -1 100 Nord v E42 3v N =140
Alla + 865 Ingen + KD1094 ov + E109
#K1062 & ¢ v & NT &#KKn762 & ¢ v & NT &E97 & ¢ v & NT
& EK8532 #1094 N3 7 423 4 E97632 & D54 N 8 106 4 6 452 « D10964 N85 977
v102 v EKn96 S37423 v76 vKn10954 S 8 106 4 6 v KKn6 vD10 S85977
¢ E + K10 O 105 9 1110 +6 ¢ E83 0535095 ¢ KDKn753 ¢ 82 O58 465
D743 #Kn985 V 105 9 1110 10954 #E3 V5362975 #3836 &#KKn43 V584675
a76 &K & Kn3
v 853 v EKD832 v 98753
¢ DKNn97432 ¢ Kn752 ¢+ 64
&E D8 &D1052
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
C3 C16 44 V-1 vyK 100 78.0 20|D12 D7 5vDO-6 #Q 1400 80.0 0.0|A13 A5 3¢DV-1 &K 200 79.0 1.0
A6 A8 INO-1 7 100 78.0 20|A11 A2 3NN+1 #J] 430 78.0 20|D16 D4 3¢DV-1 4A 200 79.0 1.0
B12 Bl 44 V-1 +8 100 780 20| C6 C8 3NN= vJ 400 740 60| F1 F2 2vS+1 ¢K 140 75.0 5.0
F5 F8 2¢ S= A 90 740 6.0|A10 Al4 5¢ N= &A 400 740 6.0|D12 D3 2vy N+1 8 140 75.0 5.0
F13 F4 3¢ S-1 & A -100 72.0 8.0|Al12 A7 3NS= a3 400 740 6.0| A1l A8 2NN= +8 120 71.0 9.0
Al0 Al4 3a4 V= +5 -140 69.0 11.0] A1 A5 1vO-3 #Q 150 68.0 12.0| B7 B3 2NN= +8 120 71.0 9.0
B13 B4 34 V= +5 -140 69.0 11.0| A3 Al6 44 V-3 &2 150 68.0 12.0|B13 B5 14 N+1 &4 110 67.0 13.0
Cl C5 3aV+1l 8 -170 59.0 21.0| F13 F4 3¢ N+2 &A 150 68.0 12.0(C14 Cl1l1 2v N= +8 110 67.0 13.0
D10 D14 24 V+2 ¢5 -170 59.0 21.0| B5 B8 3¢ N+1 &A 130 57.0 23.0| E2 E8 2¢ V-1 +9 100 63.0 17.0
E10 E7 34 V+1l ¢6 -170 59.0 21.0| F5 F8 3« N+1 «Q 130 57.0 23.0| F12 F14 3¢ V-1 aA 100 63.0 17.0
All A2 34 V+1l 3 -170 59.0 21.0| B6 B2 4¢ N= &A 130 57.0 23.0|C13 C5 INN= +8 90 60.0 20.0
D11 D2 34 V+1 @7 -170 59.0 21.0| D10 D14 3¢ N+1 vJ 130 57.0 23.0| D7 D9 1a N= +8 80 57.0 23.0
E1l E4 34 V+1l ¢5 -170 59.0 21.0|E10 E7 4¢ N= &A 130 57.0 23.0| B8 B10 1a N= +8 80 57.0 23.0
Al2 A7 34 V+1l 8 -170 59.0 21.0|B12 Bl 3¢ N+1 &A 130 57.0 23.0|C15 C10 1 N= *2 70 53.0 27.0
Al3 A4 34 V+l ¢8 -170 59.0 21.0|C12 C7 3¢ N+1 &A 130 57.0 23.0|C16 C4 1¢ N= &3 70 53.0 27.0
Al A5 INO+3 ¢Q -180 50.0 30.0|C15 C9 4¢ N= &A 130 57.0 23.0| C1 C8 INN-1 &4 -50 43.0 37.0
D1 D5 24 V+3 &2 -200 41.0 39.0|A13 A4 2v S= oA 110 47.0 33.0] C2 C6 2NN-1 46 -50 43.0 37.0
E1l E12 24 V+3 46 -200 41.0 39.0|C13 C4 3¢ N= *6 110 47.0 33.0| D2 D6 14 N-1 vQ -50 43.0 37.0
D6 D8 4¢ S-2 &K -200 41.0 39.0| B14 B11 44 V-2 +K 100 440 36.0| B6 B9 4v S-1 +K -50 43.0 37.0
Cll C2 34 V+2 +8 -200 41.0 39.0| C3 C16 5¢ N-1 vJ -50 37.0 43.0(E11 E4 14 N-1 ¢2 -50 43.0 37.0
D12 D7 24 V+3 46 -200 41.0 39.0] A6 A8 5¢ N-1 &A -50 37.0 43.0(A12 A3 3vS-1 *+K -50 43.0 37.0
F12 Fl1 34 V+2 ¢5 -200 41.0 39.0| D6 D8 2v S-1 +6 -50 37.0 43.0|(D15 D10 3v N-1 9 -50 43.0 37.0
B14 Bl11 4¢ S-2 &K -200 41.0 39.0|C11 C2 5¢ N-1 &A -50 37.0 43.0|A16 A4 2NN-1 o4 -50 43.0 37.0
Cl15 C9 24 V+3 +8 -200 41.0 39.0|B13 B4 4v S-1 a2 -50 37.0 430 A2 A6 2¢ V= &K -90 31.0 49.0
D15 D9 5¢ S-3 s A -300 32.0 48.0|A15 A9 3v S-1 s A -50 37.0 430 F6 F9 24 V= 48 -90 31.0 49.0
Cl2 C7 5¢ S-4 &A -400 30.0 50.0( D1 D5 5¢ N-2 &A -100 23.0 57.0| C7 C9 2¢ V= & A -90 31.0 49.0
A3 Al6 44 V= +8 -620 21.0 59.0| F3 F10 3NS-2 v7 -100 23.0 57.0| A15 A10 2¢ V= s A -90 31.0 49.0
B3 B10 4e V= vK -620 21.0 59.0| E6 E5 4v S-2 +6 -100 23.0 57.0| E1 E12 2NN-2 %3 -100 19.0 61.0
D3 D16 4« V= vK -620 21.0 59.0| F6 F2 2vy N-2 &A -100 23.0 57.0| B4 B11 2NN-2 +8 -100 19.0 61.0
B6 B2 44 V= +5 -620 21.0 59.0| D11 D2 5¢ N-2 #A -100 23.0 57.0| F4 F11 2NN-2 8 -100 19.0 61.0
C6 C8 44 V= 4Q -620 21.0 59.0 | E11 E4 4v S-2 a2 -100 23.0 57.0| F8 F10 2NN-2 8 -100 19.0 61.0
B7 B9 4e V= +5 -620 21.0 59.0| F12 F1 5¢ S-2 v7 -100 23.0 57.0|E10 E7 2NN-2 +¢8 -100 19.0 61.0
Cl3 C4 44 V= v7 -620 21.0 59.0| D15 D9 4v S-2 s A -100 23.0 57.0|B12 B14 24 N-2 +8 -100 19.0 61.0
Al5 A9 4a V= +8 -620 21.0 59.0| D3 D16 24 V= *+K -110 13.0 67.0|C12 C3 3« N-2 +¢8 -100 19.0 61.0
E2 E8 464 V+1 vK 650 7.0 73.0|C10 C14 24 V= +K -110 13.0 67.0| A14 A1l 2NN-2 +8 -100 19.0 61.0
B5 B8 44 V+1 vK -650 7.0 73.0| E1 E12 34 V= &7 -140 9.0 71.0| F13 F5 2¢ V+1 &A -110 9.0 71.0
E6 E5 4e V+1 ¢8 650 7.0 73.0| E2 E8 24 V+1 ¢4 -140 9.0 71.0| D14 D11 2¢ V+1 &A -110 9.0 71.0
F6 F2 44 V+1 w7 -650 7.0 73.0| B3 B10 5¢ N-3 vJ -150 6.0 740| Bl B2 2NO+1 &3 -150 4.0 76.0
Cl10 C14 44 V+1 +8 -650 7.0 73.0| B7 B9 4v S-4 4A 200 40 76.0| D1 D8 3NN-3 46 -150 4.0 76.0
F14 Fl11 4e V+1 ¢5 650 7.0 73.0] C1 C5 4vDS-3 #A -500 2.0 780| A7 A9 3NN-3 +¢8 -150 4.0 76.0
F3 F10 5¢DS-3 A -800 0.0 80.0| F14 F11 4vDS-4 «A -800 0.0 80.0| E6 E5 2NDN-3 ¢8 -500 0.0 80.0
- ES3 38.0 - ES3 38.0| F3 - 40.0
F9 - 46.8 F9 - 46.8 - E3 38.0
- D4 39.6 - D4 39.6 - D5 33.2
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10 4 E852 Basta kontrakt 11 & KKn982 Basta kontrakt 12 4 DKn Basta kontrakt
Ost v Kn98 34 O =-140 Syd v K954 3NT V =-400 Vast v K93 44 V D -3 500
Alla 495 Ingen +E NS + ED1082
#ED86 & ¢ v & NT #EKn8 & ¢ v & NT #962 & ¢ v &aN
«Knl1076 «KD93 N8 7 4 4 4 4 E5 «D10743 N4575 4 2 K9653 41074 N6 9969
vEK1032 vD7 S 87 444 vEKn10 72 S45754 vD754 +v10 S69 969
+63 ¢ EDKn8 0566 97 ¢ K432 ¢ DKn7 088589 ¢ K75 + Kn96 06 4473
*K7 #1054 V566897 #D1074 #K95 V88589 5 #EKKN873 V 6 4 4 7 4
a4 46 ~E82
v 654 v D863 v EKn862
+ K10742 4109865 +43
#Kn932 #632 +D104
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
A7 A9 44 O-3 &2 300 79.0 10| F2 F3 2y N+1 &5 140 79.0 1.0|All Al15 34DV-3 ¢3 500 80.0 0.0
D7 D9 44 O-3 7 300 79.0 10| C8 C10 2v N+1 &K 140 79.0 10| C1 C4 2NN+2 49 180 77.0 3.0
Cl C8 44 O-2 43 200 69.0 11.0| Al A4 2v N= 3 110 73.0 7.0| F8 F4 2NN+2 &A 180 77.0 3.0
B6 B9 44 O-2 v6 200 69.0 11.0| D3 D7 2v N= A 110 73.0 7.0| F1 F14 2NN+1 #A 150 72.0 8.0
B8 B10 3NO-2 ¢4 200 69.0 11.0| E3 E1 2v N= K 110 73.0 7.0|A13 A6 34V-3 ¢3 150 72.0 8.0
Al2 A3 3NQO-2 42 200 69.0 11.0|B13 B6 2v N= +Q 110 73.0 7.0|B13 B6 2NS+1 46 150 72.0 8.0
E12 E2 44 0-2 v5 200 69.0 11.0| E7 E6 3NDV-1 8 100 67.0 13.0| D1 D4 3v S= 5 140 63.0 17.0
F12 F14 44 O-2 &3 200 69.0 11.0| D8 D10 2¢DV-1 8 100 67.0 13.0| A2 A9 2v S+1 &5 140 63.0 17.0
C15 C10 44 O-2 42 200 69.0 11.0| A2 A9 14 N= v7 80 61.0 19.0| C2 C9 3v S= #5 140 63.0 17.0
Cl6 C4 44 0-2 ¢2 200 69.0 11.0| B2 B3 14 N= *9 80 61.0 19.0| B5 B12 3v S= 5 140 63.0 17.0
F1 F2 44 0O0-1 #3 100 47.0 33.0| B7 B10 14 N= +Q 80 61.0 19.0| D8 D10 2v S+1 «#5 140 63.0 17.0
A2 A6 3NO-1 &9 100 47.0 33.0| F8 F4 1a N= +Q 80 61.0 19.0|C13 C6 2v S+1 #9 140 63.0 17.0
C2 C6 44 0-1 &2 100 47.0 33.0( F1 F14 14 O-1 T 50 51.0 29.0| F13 F6 INS+1 43 120 56.0 24.0
E3 E1 44 0-1 44 100 47.0 33.0( A5 Al16 2¢ V-1 42 50 51.0 29.0| F9 F11 2v S= 5 110 53.0 27.0
E1l E5 44 0-1 v6 100 47.0 33.0| A8 A10 2NV -1 42 50 51.0 29.0| E11 E5 2v S= 5 110 53.0 27.0
Cl2 C3 44 0-1 v6 100 47.0 33.0 (D11 D15 3NV -1 438 50 51.0 29.0| B1 B14 3#0-2 3 100 49.0 31.0
D12 D3 44 O-1 v6 100 47.0 33.0(F13 F6 24 O-1 3 50 51.0 29.0| E7 E6 34V-2 ¢3 100 49.0 31.0
Al3 A5 44 O-1 43 100 47.0 33.0( Al4 Al12 3¢ V-1 42 50 51.0 29.0| B9 Bl1l1l 24 V-1 ¥3 50 45.0 35.0
Cl3 C5 4v V-1 #8 100 470 33.0( D1 D4 14 N-1 &5 -50 41.0 39.0(D14 D12 3#0-1 2 50 45.0 35.0
Ald All 4e V-1 42 100 47.0 330 C2 C9 1aN-1 ¢Q -50 410 39.0( A1 A4 3vS-1 5 -100 29.0 51.0
Cl4 Cl1l1 44 O-1 T 100 47.0 33.0( D2 D9 1a N-1 7 -50 41.0 39.0( B2 B3 4v S-1 &5 -100 29.0 51.0
D14 D11 24 V-1 +9 100 47.0 33.0| B9 Bll 2¢y N-1 +Q -50 410 390 D2 D9 2¢ N-1 &K -100 29.0 51.0
Al6 A4 3NV-1 #6 100 47.0 33.0( Bl Bl14 1a N-2 7 -100 29.0 51.0| F2 F3 3vy N-1 &5 -100 29.0 51.0
D16 D4 44 O-1 v6 100 47.0 33.0| C3 C7 2¢ S-2 &A -100 29.0 51.0| A3 A7 3v S-1 &5 -100 29.0 51.0
Al A8 34 O= ¢7 -140 31.0 49.0| B5 Bl12 1a N-2 +¢Q -100 29.0 51.0| C3 C7 4v S-1 45 -100 29.0 51.0
B13 B5 24 O+1 &3 -140 31.0 49.0| C5 C16 24 N-2 v7 -100 29.0 51.0| D3 D7 3v S-1 45 -100 29.0 51.0
D15 D10 2NO+1 v6 -150 28.0 52.0| F9 F11 2vyDN-1 v7 -100 29.0 51.0| F5 F12 3v S-1 &5 -100 29.0 51.0
D2 D6 24 O+2 T -170 26.0 54.0| E1I0 E8 2vy N-2 45 -100 29.0 51.0| B8 B4 4vy S-1 43 -100 29.0 51.0
B7 B3 INV+4 &5 -210 24.0 56.0 |E12 E2 24 N-2 +¢Q -100 29.0 51.0| C8 C10 3NN-1 #A -100 29.0 51.0
F6 F9 44 O= o7 -620 18.0 62.0 (D14 D12 24 N-2 +¢Q -100 29.0 51.0 | E1I0 E8 3v S-1 &5 -100 29.0 51.0
C7 C9 44 0= ¢2 -620 18.0 62.0| C1 C4 INV+1l 5 -120 18.0 62.0|C11 C15 3v S-1 45 -100 29.0 51.0
F8 F10 44 O= ¢7 -620 18.0 62.0| F5 F12 INV+1 5 -120 18.0 62.0 | E12 E2 4y S-1 45 -100 29.0 51.0
E10 E8 44 O= ¢4 -620 18.0 62.0(C14 Cl12 2NO= vQ -120 18.0 62.0|C14 C12 2NS-1 46 -100 29.0 51.0
F13 F5 44 O=  ¢7 -620 18.0 62.0| D5 D16 24 N-3 +¢Q -150 10.0 70.0| C5 C16 24 V= *2 -110 13.0 67.0
Bl B2 44 O+1 o7 -650 7.0 73.0| B8 B4 2NO+1 46 -150 10.0 70.0 | D11 D15 24 V= ¢ A -110 13.0 67.0
D1 D8 44 O+1 v6 -650 7.0 73.0[{C11 C15 3vy N-3 +¢Q -150 10.0 70.0 | A14 Al2 24 V+1 v3 -140 10.0 70.0
B4 Bll 44 O+1 2 -650 7.0 73.0|E11 E5 INV+2 v4 -150 10.0 70.0| E3 E1 4vy S-2 45 -200 6.0 74.0
FA F11 44 O+1 ¢4 -650 7.0 73.0|A13 A6 24 N-3 &5 -150 10.0 70.0| A5 Al6 3v S-2 45 -200 6.0 74.0
E7 E6 44 O+1 v6 -650 7.0 73.0| A1l Al15 INV+3 v4 -180 4.0 76.0| B7 B10 4y S-2 45 -200 6.0 74.0
Al5 Al0 44 O+1 ¢4 -650 7.0 73.0| A3 A7 24DO= T -470 2.0 78.0| D5 D16 4y S-3 45 -300 1.0 79.0
B12 B14 44 O+2 T -680 0.0 80.0|C13 C6 24DN-3 %6 -500 0.0 80.0| A8 Al0 4y S-3 45 -300 1.0 79.0
F3 - 40.0 - E4 25.7 - E4 25.7
- E4 25.7 | F10 - 52.7 F10 - 52.7
- D5 33.2 - D6 35.5 - D6 35.5
13 4 D873 Basta kontrakt 14 4 D87653 Basta kontrakt 15 496 Basta kontrakt
Nord v K9 54 O =-650 Ost vES52 44 S =420 Syd v Kn9432 5& V =-400
Alla +D8 Ingen *2 NS 4654
*K8764 & ¢ v & NT »K73 & ¢ v & NT »K93 LI A
«KKn92  #E1064 N8 3225 2 KKn942 o- N 105 5 109 « KD2 873 N2 766
vE108652 v73 S83225 v DKn v1097643 S 105 5 109 v K105 vED S276 6
¢E ¢K107432 O 4 1011118 + EK7 ¢+ D9654 037734 +8 ¢ E1092 O 116 6 7
«E10 2Kn V 4 1011118 21084 *D6 V37734 #ED10865 #Kn742 V 116 6 7
a5 «E10 + EKn1054
v DKn4 v K8 v 876
+ Kn965 + Kn1083 ¢ KDKn73
#D9532 #EKn952 *-
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
F3 F4 3NV-3 #4 300 79.0 10| F3 F4 3¢DO-3 #A 500 79.0 1.0|C10 C12 6#V-1 49 50 80.0 0.0
F10 F12 3NV-3 &7 300 790 10| F9 F5 4vDO-3 A 500 79.0 1.0|Bl11 Bl 34S-1 8 -100 78.0 2.0
D1 D14 44 V-2 &6 200 73.0 7.0| A3 A10 24 V-5 &K 250 740 6.0|D10 D12 34 V= 46 -110 76.0 4.0
C9 C11 44 O-2 &5 200 73.0 7.0| B8 B1l1l 24 V-5 &3 250 740 6.0|C13 C8 INO+1 +¢K -120 74.0 6.0
Al2 Al5 4e V-2 ¢Q 200 73.0 7.0|B10 B12 2NV-5 #3 250 740 6.0|F10 F6 4#V-= 49 -130 71.0 9.0
D16 D6 44 O-2 #3 200 73.0 7.0|C12 C15 INN+5 T 240 70.0 10.0|B13 B8 3#V+l 46 -130 71.0 9.0
Cl C14 44 O-1 &3 100 59.0 21.0| C3 C10 14V-4 2 200 62.0 18.0| E1 E10 3#V+2 46 -150 50.0 30.0
A2 A5 44 O-1 &9 100 59.0 21.0| D3 D10 14 V-4 2 200 62.0 18.0| C3 C6 4#V+1l 49 -150 50.0 30.0
C2 C5 3NV-1 #4 100 59.0 21.0| B9 B5 14V-4 &3 200 62.0 18.0| B4 B5 3 V+2 ¢4 -150 50.0 30.0
C3 C10 44 O-1 &2 100 59.0 21.0| C9 Cl11 14 V-4 &K 200 62.0 18.0| C4 Cl1 3« V+2 ¢4 -150 50.0 30.0
D3 D10 34 O-1 &5 100 59.0 21.0| D9 D11 24 V-4 2 200 62.0 18.0| D4 D11 34V +2 45 -150 50.0 30.0
E8 E7 44 O-1 42 100 59.0 21.0|C13 C7 14 V-4 «K 200 62.0 18.0| E4 E2 44V +1 46 -150 50.0 30.0
E1l E6 44 O-1 3 100 59.0 21.0|C16 C6 1aV-4 2 200 62.0 18.0| A5 A9 44V +1l 46 -150 50.0 30.0
D12 D15 3NV-1 &6 100 59.0 21.0| D12 D15 2NS+2 44 180 53.0 27.0| C5 C9 4#V+l 2 -150 50.0 30.0
Bl14 B2 34 O-1 #3 100 59.0 21.0|D16 D6 INN+3 T 180 53.0 27.0| D5 D9 4#V+l ¢4 -150 50.0 30.0
Cl6 C6 44 O-1 #2 100 59.0 21.0| D2 D5 24 N+2 3 170 50.0 30.0| B7 B2 4#V+1 49 -150 50.0 30.0
Cl2 C15 24 V= *4 -110 48.0 32.0| F8 F11 14 V-3 &K 150 45.0 35.0 | A10 Al12 44V +1 49 -150 50.0 30.0
Al Al4 2¢ O+2 45 -130 46.0 34.0 | Al2 Al15 2NS+1 43 150 450 35.0(B10 B6 2#V+3 49 -150 50.0 30.0
E4 E2 24 V+1 48 -140 42.0 38.0 | A13 A7 14 V-3 ¢2 150 450 350 (E11 E6 3#V+2 49 -150 50.0 30.0
B6 Bl 3v V= *4 -140 42.0 38.0|B13 B7 INN+2 ¥4 150 450 350 |E12 E3 3#V+2 46 -150 50.0 30.0
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B9 B5 34 V= &4 -140 420 38.0| E4 E2 3« S+1 &2 130 39.0 41.0| A13 A8 4« V+1 &9 -150 50.0 30.0
E1l E10 2vy V+2 &8 -170 340 46.0| B6 Bl 2#S+2 ¢A 130 39.0 41.0| F13 F8 44V +1 &9 -150 50.0 30.0
D2 D5 2vV+2 &4 -170 340 46.0|F14 F2 INN+1 +¢5 120 36.0 44.0(B14 B3 3V +2 49 -150 50.0 30.0
A4 A8 2v V+2 +8 -170 340 46.0| B3 B4 2« S+1 ¢K 110 33.0 470 |F14 F3 4V +1l 46 -150 50.0 30.0
Al3 A7 2vV+2 43 -170 34.0 46.0| D4 D8 3#S= vlJ 110 33.0 47.0|A15 Al 4V +1 &9 -150 50.0 30.0
B13 B7 2vV+2 ¢Q -170 34.0 46.0 | F10 F12 4vyDO-1 «A 100 29.0 51.0| B9 Bl1l2 3« V+3 ¢4 -170 30.0 50.0
B3 B4 4 N-2 3 -200 26.0 54.0|A16 A6 4v O-2 «A 100 29.0 51.0| A3 A6 34 S-2 &A -200 26.0 54.0
D9 D11 3v V+2 &4 -200 26.0 54.0| A2 A5 24 S= a2 90 24.0 56.0| F11 F1 3¢DS-1 #A -200 26.0 54.0
C13 C7 34 O+2 a5 -200 26.0 54.0| A4 A8 24 S= *+K 90 240 56.0| D15 D1 3¢ S-2 v5 -200 26.0 54.0
A3 Al0 44 O= +9 -620 15.0 65.0 | B14 B2 2# S= A 90 24.0 56.0| A2 Al4 5% V= 49 -400 15.0 65.0
C4 C8 44 O= +5 -620 15.0 65.0| A9 All INO-1 &2 50 20.0 60.0| C2 Cl14 5% V= 46 -400 15.0 65.0
A9 All 44 O= v4 -620 15.0 65.0| C2 C5 3#S-1 +¢K -50 18.0 62.0( A4 A1l 3NO= *+K -400 15.0 65.0
FO F5 44 O= +6 -620 15.0 65.0| F6 F1 3#S-2 +¢A -100 16.0 640| F4 F5 5#V= 49 -400 15.0 65.0
B10 B12 44 O= »2 -620 15.0 65.0| Al Al4 2v O= SA -110 10.0 70.0| A7 Al6 3NV= +5 -400 15.0 65.0
E12 E3 4v V= +8 -620 15.0 65.0| D1 D14 2y O= s A -110 10.0 70.0| C7 C16 5% V= 49 -400 15.0 65.0
F14 F2 464 O= +6 -620 15.0 65.0| C4 C8 2¢vO= s A -110 10.0 70.0| D7 D16 3NV= 49 -400 15.0 65.0
Al6 A6 4v V= a7 -620 15.0 65.0 | E11 E6 2v O= SA -110 10.0 70.0|C15 C1 5V = a9 -400 15.0 65.0
F6 F1 44 V+1 &7 -650 4.0 76.0|E12 E3 2v O= *J -110 10.0 70.0| D2 D14 3NO+1 ¢7 -430 6.0 74.0
B8 Bll 4v V+1 &4 -650 4.0 76.0| C1 Cl14 4v O= s A -420 4.0 76.0| D3 D6 3NV+2 w2 -460 3.0 77.0
F8 F11 44 V+1 8 650 4.0 76.0| E8 E7 2vDO= +¢J -470 2.0 780| E8 E7 3NV+2 49 -460 3.0 77.0
D4 D8 4vy V+2 43 -680 0.0 80.0| E1 E10 5#4DS-3 +¢A -500 0.0 80.0| F9 F12 44DS-4 #A -1100 0.0 80.0
- E5 54.9 - E5 549 F2 - 43.7
- D7 39.3 - D7 39.3 - E5 54.9
F13 - 32.9 F13 - 329 - D8 49.4
16 +E10 Basta kontrakt 17 +E10 Basta kontrakt 18 4 K1093 Basta kontrakt
Vast v KD75 5v N =450 Nord v EKDKn9872 54 O =-450 Ost v EKD98 54 S =650
oV + Kn98643 Ingen +9 NS + D975
&8 & ¢ v & NT &42 & v & NT &»- & ¢ v & NT
& KKn4 « D9875 N 3 9 114 8 4 KDKNn9 476432 N 2 9 25 &4 DKN764 &- N9 9 9 119
v3 v92 S 39 114 8 v 105 v4 S 2 926 v43 vKn107652 S 9 9 9 119
+D1075 +E O 104 2 4 ¢ ED1083 ¢ KKn O 10104 114 ¢ 10642 ¢ E83 04 4423
&#KKn543 #D9762 V 104 2 4 K38 &#EKN1096 V 10104 114 K10 D752 V34423
4632 485 ~ E852
v EKn10864 v63 v-
* K2 ¢ 76542 ¢ KKn
&E10 D753 #EKN98643
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
Cl5 C1 5vDS= &K 650 80.0 0.0|E12 E4 3NDV-5 vA 1100 80.0 00|F10 F1 3NS+2 «Q 660 79.0 1.0
F10 F6 4v S+2 &3 480 770 3.0 F5 F6 4vy N+1 ¢J 450 78.0 2.0|A11 Al 3NN+2 &2 660 79.0 1.0
Al5 Al 4v S+2 #3 480 770 3.0| D4 D7 4v N= &6 420 750 50| E5 E3 44 S+1 T 650 76.0 4.0
D4 D11 4v S+1 #8 450 60.0 20.0| F4 F14 4v N= v4 420 75.0 50| F4 F14 3NN+1 v2 630 66.0 14.0
F4 F5 4v S+1 &K 450 60.0 20.0| D15 D2 3v N= &A 140 720 8.0| A5 Al2 3NN+1 3 630 66.0 14.0
A5 A9 4v S+1 &4 450 60.0 20.0| A4 A7 4v N-1 +K -50 49.0 310 F8 F3 3NN+1 v6 630 66.0 14.0
D5 D9 4v S+1 «4 450 60.0 20.0| C4 C7 4vy N-1 &A -50 49.0 31.0(Cl11 C1 3NN+1 2 630 66.0 14.0
E5 E3 4v S+1 3 450 60.0 20.0( D5 D12 4vy N-1 +v4 -50 49.0 31.0(F12 F2 3NN+1 v2 630 66.0 14.0
A7 Al16 4v S+1 #8 450 60.0 200| E5 E3 4vy N-1 +¢K -50 49.0 31.0(C13 C9 3NN+1 +8 630 66.0 14.0
D7 D16 4y S+1 &4 450 60.0 20.0| C6 C10 4v N-1 #A -50 49.0 31.0|A15 A2 3NN+1 vJ 630 66.0 14.0
E7 E11 4v S+1 ¢5 450 60.0 20.0| D6 D10 4v N-1 %A -50 49.0 31.0(C15 C2 3NN+1 v2 630 66.0 14.0
B9 Bl12 4v S+1 &3 450 60.0 20.0| E7 E11 4v N-1 &7 -50 49.0 31.0(D16 D8 3NN+1 T 630 66.0 14.0
D10 D12 4v S+1 «4 450 60.0 200| F8 F3 4vy N-1 &2 -50 49.0 31.0| E2 E10 44 S= +6 620 54.0 26.0
B11 Bl 4v S+1 &4 450 60.0 20.0(B10 Bl 4vy N-1 ¢J -50 49.0 31.0(E12 E4 44 N= ¢+A 620 54.0 26.0
E12 E4 4v S+1 &3 450 60.0 200 | F10 F1 4vy N-1 44 -50 49.0 31.0(D14 D3 44 S= ¢A 620 54.0 26.0
B1l4 B3 4vy S+1 &J] 450 60.0 20.0| A1l Al 4v S-1 &2 -50 49.0 31.0( D6 D10 3NN= +3 600 48.0 32.0
F14 F3 4v S+1 7 450 60.0 20.0(B11 B7 4vy N-1 ¢K -50 49.0 31.0( B8 B3 3NN= v7 600 48.0 32.0
D15 D1 4v S+1 44 450 60.0 20.0| D11 D1 4v N-1 #A -50 49.0 31.0 | A13 A9 3NN= v4 600 48.0 32.0
D3 D6 4v S= &3 420 42.0 38.0(B12 B2 4vy N-1 #A -50 49.0 31.0(B11 B7 3vDO-3 4A 500 44.0 36.0
C4 Cl1 4v S= 7 420 42.0 38.0|A13 A9 4vy N-1 &5 -50 49.0 31.0(B10 Bl 3vO-5 &A 250 42.0 38.0
B7 B2 4v S= ¢7 420 42.0 38.0|B13 B9 4v N-1 K -50 49.0 31.0(C16 C8 3vO-4 &A 200 40.0 40.0
A2 Al4 3v S+2 &3 200 31.0 49.0|C13 C9 4v N-1 «Q -50 49.0 31.0(A14 A3 2vV-3 ©vA 150 38.0 42.0
A3 A6 3v S+2 4 200 31.0 49.0| A14 A3 4v N-1 #A -50 49.0 31.0( D5 D12 2v N= vJ 110 36.0 44.0
C3 C6 3vyS+2 &4 200 31.0 49.0| A15 A2 4v N-1 #A -50 49.0 31.0( E1 E8 3NS-1 46 -100 24.0 56.0
B4 B5 2vy S+3 &3 200 31.0 49.0|C15 C2 4v N-1 #A -50 49.0 31.0| A4 A7 34 N-1 vJ -100 24.0 56.0
C5 C9 3vS+2 &3 200 31.0 49.0| A16 A8 4v N-1 %6 -50 49.0 31.0| B4 B14 3NN-1 vJ -100 24.0 56.0
F9 F12 54DV-1 &A 200 31.0 49.0|D16 D8 4v N-1 +¢K -50 49.0 310 C4 C7 44 S-1 2 -100 24.0 56.0
B13 B8 5&4DV-1 «A 200 31.0 49.0| E1 E8 5v N-2 &A -100 23.0 57.0| B5 B6 44 N-1 vJ -100 24.0 56.0
F13 F8 3v S+2 &5 200 31.0 49.0( A6 Al10 4vDN-1 ¢K -100 23.0 57.0| C5 C12 3NN-1 3 -100 24.0 56.0
E2 E10 44 O-1 <vA 100 20.0 60.0| B8 B3 5vy N-2 &7 -100 23.0 57.0| F5 F6 54 S-1 ¢2 -100 24.0 56.0
C7 Cl16 5#V-1 «A 100 20.0 60.0|C16 C8 5v N-2 #A -100 23.0 57.0| C6 C10 44 S-1 v4 -100 24.0 56.0
Cl10 C12 5#V-1 vK 100 20.0 60.0| E2 E10 5¢vDN-2 &7 -300 15.0 65.0|D11 D1 3NN-1 vJ -100 24.0 56.0
Al3 A8 2¢ N= *6 90 16.0 64.0| C5 C12 5vDN-2 ¢K -300 15.0 65.0|B12 B2 44 N-1 +¢A -100 24.0 56.0
D2 D14 4v S-1 4 -50 14.0 66.0| F12 F2 5vDN-2 6 -300 15.0 65.0|B13 B9 44 S-1 v4 -100 24.0 56.0
A4 All 34 O+1 +K -170 12.0 68.0| F13 F9 5vDN-2 ¢K -300 15.0 65.0| D4 D7 6NN-2 vJ -200 10.0 70.0
E1l E8 44 O= &A -620 7.0 73.0| B4 Bl14 5¢ V= vA -400 10.0 70.0| F13 F9 44 S-2 v3 -200 10.0 70.0
C2 Cl4 44 O= a3 -620 7.0 73.0| A5 Al2 44 V+1 ¢8 -450 4.0 76.0|A16 A8 3NN-2 vJ -200 10.0 70.0
B10 B6 44 O= *+K -620 7.0 73.0| B5 B6 44 O+l v6 -450 4.0 76.0| A6 Al10 6#S-3 4Q -300 4.0 76.0
Cl3 C8 44 O= vA -620 7.0 73.0|C11 C1 44 O+1 v6 -450 4.0 76.0| E7 E11 64 S-3 v4 -300 4.0 76.0
Al10 Al2 44DO= &A 790 1.0 79.0|C14 C3 54 O= v3 -450 4.0 76.0|D15 D2 6#S-3 4] -300 4.0 76.0
F11 Fl1 44DO= ¢K 790 1.0 79.0| D14 D3 44 V+1 ©vA -450 4.0 76.0|C14 C3 44DS-2 v4 -500 0.0 80.0
F2 - 43.7 - E6 31.9 - E6 31.9
- E6 319 | Fl11 - 51.4 F11 - 51.4
- D8 49.4 - D9 334 - D9 334
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19 4 K732 Basta kontrakt 48642 Basta kontrakt 21 & K432 Basta kontrakt
Syd v EKn6 6NT S =990 Vast v DKn76 la V =-80 Nord v 96 5¢v O =-450
oV + KDKn9 Alla +4 NS 4105
*E4 & ¢ v & NT 10987 & ¢ v &N #ED763 & ¢ v &aN
2964 4 DKn8 N 1210111112 » EKn « D9753 N75655 4 Kn 8 N7 2193
vD103 v9542 S 129 111112 vE84 v K109 S76766 vK8752 v EDKn43 S72193
¢+E62 4108743 013221 ¢ K876532 ¢ Kn 06 76 76 ¢ EKn8 ¢ K7632 O 6 11114 5
#9753 #6 vii3z221 3 *K642 V57676 #Kn1084 #K5 V 6 11114 5
4 E105 4 K10 « ED109765
v K87 v532 v10
+5 + ED109 + D94
#KDKn1082 #EDKn5 #92
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
A3 A15 6NN = ¢4 990 65.0 15.0| A9 Al6 3NO-4 «5 400 80.0 00| B2 B4 44 S-= v2 620 80.0 0.0
A5 A8 6NS= v3 990 65.0 150| B6 B7 3NO-3 «#5 300 76.0 40| AL A3 5v0O-1 &A 50 740 6.0
C5 C8 6NN= v4 990 65.0 150 C6 Cl1 2NO-3 «#5 300 76.0 40| A6 A9 5v O-1 &A 50 740 6.0
FS5 F14 6NN= ¢3 990 65.0 150| B9 B4 3¢ V-3 v6 300 76.0 4.0| E8 E1l 5v O-1 4A 50 74.0 6.0
B6 B7 6NN= ¢3 990 65.0 150| B1 B3 3NV-2 «#7 200 60.0 20.0| F10 F5 5v O-1 4A 50 740 6.0
C6 Cl 6NN= v2 990 65.0 15.0| E2 E1 2NO-2 #A 200 60.0 20.0|B12 B3 5v O-1 &A 50 74.0 6.0
E6 E4 6NN= ¢3 990 65.0 150| C3 C15 2NO-2 «A 200 60.0 20.0| A5 Al4 44 S-1 v2 -100 63.0 17.0
A7 All 6NS= 49 990 65.0 150| E3 E10 3¢ V-2 &T 200 60.0 200| E6 E4 44 S-1 v2 -100 63.0 17.0
C7 Cl11 6NS= ¢A 990 65.0 15.0| A5 A8 2¢ V-2 &T 200 60.0 20.0| B14 B6 44 S-1 +A -100 63.0 17.0
D7 D11 6NS= v3 990 65.0 150| C5 C8 3NV-2 v6 200 60.0 200| F14 F6 44 S-1 v2 -100 63.0 17.0
C9 C16 6NN= ¢2 990 65.0 150| D6 D1 3NO-2 #J 200 60.0 20.0|C16 C10 44 S-1 ¢K -100 63.0 17.0
F9 F4 6NN= ¢3 990 65.0 15.0| E8 E11 3¢ V-2 vQ 200 60.0 20.0| D16 D10 44 S-1 v2 -100 63.0 17.0
Bll B2 6NS= 9 990 65.0 150|B12 B8 2¢ V-2 &T 200 60.0 200| F2 F4 44DS-1 vK -200 51.0 29.0
F11 F2 6NN-= v9 990 65.0 150|C12 C2 3¢ V-2 &T 200 60.0 200| C6 C9 54 S-2 ¢K -200 51.0 29.0
Al12 A2 6NN= ¢A 990 65.0 15.0|E12 E5 3¢ V-2 vQ 200 60.0 20.0| A7 A2 54 S-2 +A -200 51.0 29.0
D14 D4 6NN= ¢3 990 65.0 15.0|B13 B10 44 O-2 2 200 60.0 20.0| A13 All 44DN-1 ¥2 -200 51.0 29.0
Cl2 C2 6#S= ¢A 920 47.0 33.0(D14 D4 3NO-2 #Q 200 60.0 20.0|C13 Cl11 54 S-2 +A -200 51.0 29.0
D12 D2 6#S= ¢A 920 470 330 E6 E4 2¢ V-1 vQ 100 42.0 38.0| A16 A10 44 S-2 &J -200 51.0 29.0
F1 F3 3NN+3 3 490 27.0 53.0|F11 F2 3¢ V-1 vQ 100 42.0 3801 B1 B9 4v O= 4A -420 41.0 39.0
C3 C15 3NN+3 T 490 27.0 53.0|F12 F8 3¢ V-1 &T 100 42.0 380 D7 D2 4v O= 4A -420 41.0 39.0
D3 D15 3NN+3 ¢4 490 27.0 53.0| A13 A10 2¢ V-1 &T 100 42.0 38.0| D8 D12 4v O= &A -420 41.0 39.0
B5 B14 3NN+3 43 490 27.0 53.0|A14 A4 2¢ V-1 v6 100 42.0 38.0(B10 B5 4v O= 4A -420 41.0 39.0
A6 Al 3NN+3 ¢3 490 27.0 53.0| A6 Al 2¢ V= *7 90 33.0 470 C1 C3 5v O= 4A -450 22.0 58.0
D6 D1 3NN+3 48 490 27.0 53.0| C7 Cl11 2¢ V= v6 90 33.0 470 F1 F9 5v O= 4A -450 22.0 58.0
E8 E11 3NN+3 ¢3 490 27.0 53.0| C9 Cl16 2¢ V= *T 90 33.0 470 E2 El1 4v O+1 &A -450 22.0 58.0
A9 A16 3NN+3 T 490 27.0 53.0| F13 F10 2¢ V= vQ -90 33.0 470 E3 E10 5v O= 4A -450 22.0 58.0
B9 B4 3NS+3 ¢A 490 27.0 53.0| F9 F4 3NS-1 8 -100 27.0 53.0| A4 Al5 5v O= &A -450 22.0 58.0
D9 D16 3NN+3 ¢8 490 27.0 53.0|C14 C4 2NS-1 2 -100 27.0 53.0| C4 C15 4v O+1 oA -450 22.0 58.0
B12 B8 3NS+3 &3 490 27.0 53.0| F1 F3 3¢ V= v7 -110 21.0 59.0| C5 Cl14 4v O+1 3 -450 22.0 58.0
E12 E5 3NN+3 4Q 490 27.0 53.0| B5 Bl1l4 3¢ V= v7 -110 21.0 59.0| D5 D14 5v O= &A -450 22.0 58.0
F12 F8 5NN+1 ¢K 490 27.0 53.0| F5 F14 2¢ V+1 v7 -110 21.0 59.0| D6 D9 4v O+1 A -450 22.0 58.0
Al3 A10 3NN+3 ¢3 490 27.0 53.0| D7 D11 3¢ V= vQ -110 21.0 59.0| B7 B8 5v V= oK -450 22.0 58.0
C13 C10 3NN+3 ¢7 490 27.0 53.0| D9 D16 2¢ V+2 v6 -130 16.0 64.0| C7 C2 4v O+1 oA -450 22.0 58.0
F13 F10 3NN+3 v4 490 27.0 53.0| D5 D8 24 O+1 A -140 13.0 67.0| A8 Al2 4v O+1 A -450 22.0 58.0
Al4 A4 3NN+3 3 490 27.0 53.0| A12 A2 24 O+1 A -140 13.0 67.0| C8 C12 4v O+1 oA -450 22.0 58.0
Cl4 C4 3NN+3 48 490 27.0 53.0| A7 All 34 O+1 #Q -170 10.0 70.0 | B13 B11l 5v O= 49 -450 22.0 58.0
D5 D8 3NN+2 4J 460 8.0 72.0| A3 Al5 2NS-2 &A -200 6.0 74.0| F13 F11 4v O+1 &A -450 22.0 58.0
Bl B3 2NN+4 ¢7 240 6.0 74.0| D3 D15 2NDS-1 +¢6 -200 6.0 74.0| D1 D3 4y O+2 9 -480 4.0 76.0
E2 E1 2NS+2 ¥3 180 40 76.0|D12 D2 2v N-2 +J -200 6.0 74.0|E12 E5 5v O+1 49 -480 4.0 76.0
E3 E10 54 N-1 #6 -50 20 780(Bl1 B2 2y N-3 ¢J -300 2.0 780|F12 F3 4v O+2 49 -480 4.0 76.0
B13 B10 64 N-2 #6 -100 0.0 80.0|C13 C10 3NV+1 vJ -630 0.0 80.0| D4 D15 44DS-2 v5 -500 0.0 80.0
F6 - 21.9 F6 - 21.9 F8 - 41.5
- E7 43.3 - E7 43.3 - E7 43.3
- D10 34.2 - D10 34.2 - D11 35.2
22 4 EK983 Basta kontrakt 410965 Basta kontrakt 24 4 D106 Basta kontrakt
Ost vEG6 44 S =420 Syd v K53 5 S D -2-500 Vast v KKn10 2NT N =120
ov + EKn8 Alla + D32 Ingen + KKn3
*Kn64 & ¢ v & NT *EK5 & ¢ v &N +D1076 & ¢ v &N
+ Knl104 « D7 N 107 9 109 « K87 « ED432 N9 6 345 2 K972 484 N8 7 6 8 8
v742 v Kn1053 S 107 9 109 vKnl1076 vED94 S 96345 vD942 vE76 S 87688
¢ KD10976 ¢ 542 036434 ¢E1075 86 04 7 109 7 +1072 9865 056555
*K *E975 V36434 +D6 +104 vV 47 109 7 #EKn  #K985 V56655
4 652 «Kn & EKn53
vKD98 v 82 v 853
+3 ¢ KKn94 ¢+ ED4
#D10832 #Kn98732 #432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
B7 B8 4¢DV-4 vA 1100 80.0 0.0|F11 F6 INS+2 T 150 80.0 0.0| E6 E12 3NN= +9 400 79.0 1.0
D16 D10 44 N+2 v3 480 780 20|A15 A5 INS+1 7 120 78.0 2.0|B14 B7 3NN= «8 400 79.0 1.0
A6 A9 3NN+2 &5 460 76.0 40| B3 B5 3#S-= vJ 110 740 60| F1 F4 INN+2 &5 150 73.0 7.0
B2 B4 44 N+1 #A 450 720 8.0|B14 B7 3#S-= ¢A 110 740 6.0|F11 F6 2NN+1 #8 150 73.0 7.0
A5 Al4 44 N+1 5 450 720 8.0|D15 D5 3#N-= +8 110 740 6.0|A15 A5 INN+2 6 150 73.0 7.0
D7 D2 44 N+1 2 450 720 80| BL B4 3vO-1 «J 100 67.0 13.0|C15 C5 2NN+1 48 150 73.0 7.0
C6 C9 3NS+1 ¢9 430 67.0 13.0| C2 C4 34 0-1 6 100 67.0 13.0| A2 A4 INN+1 &5 120 51.0 29.0
B10 B5 3NN+1 ¢4 430 67.0 13.0| D9 D1 3vO-1 #2 100 67.0 13.0| B2 B10 INN+1 9 120 51.0 29.0
E1l E11 44 N= ¢5 420 61.0 19.0| A1l Al6 4v V-1 #A 100 67.0 13.0| F2 F10 2NN= ¢6 120 51.0 29.0
C7 C2 44 N= ¢2 420 61.0 19.0] F3 F5 INS= +5 90 56.0 24.0| C6 C14 INN+1 6 120 51.0 29.0
D8 D12 44 N= vJ 420 61.0 19.0| C7 C10 INS= v6 90 56.0 24.0| D6 D14 2NN= 8 120 51.0 29.0
B14 B6 44 N= ¢2 420 61.0 19.0| D7 D10 INS= v7 90 56.0 24.0| C7 C10 INN+1 9 120 51.0 29.0
F2 F4 3NN-= ¢2 400 55.0 25.0| E7 E5 INS= v6 90 56.0 24.0| D7 D10 INN+1 6 120 51.0 29.0
C5 C14 3NN= ¢5 400 55.0 25.0| B8 B9 INS= v] 90 56.0 24.0| E7 E5 2NN= +8 120 51.0 29.0
E4 E10 3¢ V-3 &K 300 51.0 29.0 | A13 Al12 INS= +5 90 56.0 24.0| B8 B9 INN+l1 v6 120 51.0 29.0
Al6 Al10 3¢ V-3 «A 300 51.0 29.0|B13 B12 INS= v7 90 56.0 24.0| D8 D3 INS+1 ¥4 120 51.0 29.0
Bl B9 2¢ V-2 ©vA 200 47.0 33.0| A2 A4 Pass 48.0 32.0| F8 F9 INN+1 5 120 51.0 29.0
C16 C10 24 N+3 ¢5 200 47.0 33.0( D6 D14 INS-1 6 -100 45.0 35.0 A9 Al INN+1 &5 120 51.0 29.0
F1 F9 INN+3 3 180 43.0 370 A9 Al 24S-1 v6 -100 45.0 35.0(B11 B6 INN+1 9 120 51.0 29.0
F12 F3 INN+3 &7 180 43.0 37.0|C15 C5 24 O= ¢4 -110 42.0 38.0|C11 C16 2NN= &5 120 51.0 29.0
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E2 34 N+1 ¥3 170 35.0 45.0| D11 D16 3¢ O+1 &J -130 40.0 40.0 | A13 Al12 INN+1 +¢9 120 51.0 29.0
D9 34 N+1 5 170 350 450 F1 F4 24 O+1 &3 -140 33.0 47.0|B13 B12 INN+1 #9 120 51.0 29.0
E12 24 N+2 ¢5 170 350 450| E4 E10 2v V+1 &K -140 33.0 47.0|C13 C12 INN+1 +¢9 120 51.0 29.0
Al2 24 N+2 ¢5 170 35.0 45.0| C6 C14 34 O= &5 -140 33.0 47.0|D15 D5 INN+1 &5 120 51.0 29.0

Cl2 24 N+2 ¢4 170 35.0 450 A8 A3 2v O+1 &J -140 33.0 47.0| A6 Al4 24 S= v2 110 32.0 48.0
B3 24 N+2 vJ 170 35.0 450| D8 D3 3v O= »8 -140 33.0 47.0| F13 F12 2¢ O-2 &4 100 30.0 50.0
E5 INN+2 ¥3 150 27.0 53.0|B11 B6 34 O= v8 -140 33.0 47.0| E1 E11 INN= *5 90 26.0 54.0

F11 INN+2 ¥5 150 27.0 53.0| E1 E11 2v V+2 &A -170 18.0 62.0| B3 B5 2&# N= vA 90 26.0 54.0
C3 24 N+1 ¢2 140 20.0 60.0| B2 B10 3v O+1 &8 -170 18.0 62.0| A7 Al10 INN= v6 90 26.0 54.0

Al5 24 N+1 ¢5 140 20.0 60.0| F2 F10 3v V+1 #A -170 18.0 62.0| F3 F5 2¢ O-1 &4 50 21.0 59.0

Cl15 24 N+1 5 140 20.0 60.0| E3 E2 2v V+2 &A -170 18.0 62.0| C8 C3 INO-1 +8 50 21.0 59.0

All 24 N+1 +2 140 20.0 60.0| A6 Al4 3v O+1 &J -170 18.0 62.0| C2 C4 Pass 18.0 62.0

B11l 24 N+1 2 140 20.0 60.0| A7 A10 3v V+1 #A -170 18.0 62.0| Bl B4 24 S-1 #A -50 9.0 71.0
F6 24 N= &7 110 140 66.0| C8 C3 2y V+2 &A -170 18.0 62.0| D2 D4 2NN-1 v6 -50 9.0 71.0
A3 INN-1 3 50 7.0 730 F8 F9 3v O+1 «J -170 18.0 62.0| E3 E2 3NN-1 ¢5 -50 9.0 71.0

D15 44 N-1 ¢5 50 7.0 73.0( C9 Cl 2v V+2 &A -170 18.0 62.0| A8 A3 14 S-1 #A -50 9.0 71.0

D14 2v N-1 +5 -50 7.0 73.0| E6 E12 INS-2 v6 2000 7.0 73.0| C9 Cl 14 S-1 v4 -50 9.0 71.0
A2 44 N-1 ¢5 50 7.0 73.0(C13 C12 INS-2 v6 200 7.0 73.0| D9 D1 24 S-1 ¢7 -50 9.0 71.0
F5 INN-1 ¢5 50 7.0 73.0( D2 D4 14 N-3 +8 -300 4.0 76.0| A1l Al16 3NN-1 &5 -50 9.0 71.0

Cl11 3NN-1 vJ -50 7.0 73.0(C11 C16 4v O= aJ -620 1.0 79.0| D11 D16 34 S-1 T -50 9.0 71.0
D3 3NN-2 ¢2 -100 0.0 80.0| F13 F12 4v O= *A -620 1.0 79.0| E4 E10 24 S-2 v4 -100 0.0 80.0

- 41.5 - E8 49.1 - E8 49.1
E8 49.1 - D12 40.5 - D12 40.5
D11 35.2 | F14 - 24.0 F14 - 24.0
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